TFe IYA x O o AHF AL D2W?

@1V @6vF @8Vi @10V O 1247

Il
25




7k wo] 2017} 4, 10, a 2 AZHZERO] St 2
10 ol & wo] o gtk 7 71 Wo] PolE q o2k & u, q
oz g7 AR AL?

@® 2v19, 2V21 @ 2v13,2v23 ® 2V11,2V17
@2V 2v35  ©® 2V15.2v%

S5 ~
i) 102 = 42 + a%,a®> = 84, a >0°| B2

a=2V21
ii) a®> =42 +116,a% = 116, a >0°| B2

a= V116 = 2v29




tg 193 ﬂo] T mA ] 71017} 8cm

D 4 @ 6 ® 8 @)10 ® 12

~&B

AC =8+2(cm) °|E2
BM = 4V2(cm)

FM = /82 + (4V2)2 = 4V6( cm)

webA a+ b ] F2 10 o]tk




@ 3cm @ 4cm ® 3v2cm
@ 4+v2cm ®)5cm

AAEH = AEBF = AFCG = AGDH ©|B2 =2
oEFGH & JAHZgoltt.
AH =3cm©|22 EH = 5cm




@ 3cm @)4cm ® 5cm @ 6cm ® 7cm

PH = V52 -32 = V16 = 4(cm)




a%e WA S AL 915 99
A B 74 7he Ag A7t s0r
oltt. o] 97%52] Weie] WA
92k @ o), 97]%59] o] ABC|

10 9 qilo

e X ofn

@ 21rn @ 227 ® 237 @247r ® 257

AB’ = /(30m)% — (187)2 A8~
= V90072 — 32472 AR
= V576x2 S
30
= 2471' \




